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SORLCUR records contain in one table the program information for RECRUITs, ADMISSIONS, LEARNERs and OUTCOME.  The table rows are non destructive so one can’t just look for active LEARNER records because a later record may inactivate a prior record.  The delivered function SB_CURRICULUM.F_FIND_CURRENT_ALL_IND must be used to eliminate those.

One possible need is to find all the current, active LEARNER records for a student and then filter from there.  The following snippet does just that.  There may be zero to many rows returned by the SELECT statement because the student is legitimately current and active in several programs.  The “:TERM” parameter in the function will find all the pertinent records with term less than or equal to “:TERM”, so that defines what’s current.  Additional conditions in the WHERE could filter on level or program or whatever fields are available in the SORLCUR record.
SELECT DISTINCT SORLCUR_PIDM

FROM SORLCUR
WHERE SORLCUR_LMOD_CODE = 'LEARNER'

  AND SORLCUR_CACT_CODE = 'ACTIVE'

  AND SB_CURRICULUM.F_FIND_CURRENT_ALL_IND
      (SORLCUR_PIDM,

       SORLCUR_LMOD_CODE,

       SORLCUR_TERM_CODE,

       SORLCUR_KEY_SEQNO,

       SORLCUR_PRIORITY_NO,

       SORLCUR_SEQNO,

       :TERM
      ) = 'Y'
  AND SORLCUR_PIDM = :PIDM

Another example which retrieves for those with an ISIR the active learner records for the student with a term <= the ROBINST_CURRENT_TERM_CODE.  We can then filter on their level as in this example (‘UG’) or there program or anything else within the SORLCUR record.
SELECT DISTINCT RCRAPP1_PIDM

FROM RCRAPP1

INNER JOIN ROBINST

   ON ROBINST_AIDY_CODE = RCRAPP1_AIDY_CODE

INNER JOIN SORLCUR

   ON SORLCUR_PIDM = RCRAPP1_PIDM
  AND SB_CURRICULUM.F_FIND_CURRENT_ALL_IND
      (SORLCUR_PIDM,

       SORLCUR_LMOD_CODE,

       SORLCUR_TERM_CODE,

       SORLCUR_KEY_SEQNO,

       SORLCUR_PRIORITY_NO,

       SORLCUR_SEQNO,

       ROBINST_CURRENT_TERM_CODE

      ) = 'Y'
WHERE SORLCUR_LMOD_CODE = 'LEARNER'

  AND SORLCUR_CACT_CODE = 'ACTIVE'
  AND SORLCUR_LEVL_CODE = 'UG'
  AND RCRAPP1_CURR_REC_IND = 'Y'
  AND RCRAPP1_AIDY_CODE = :AIDY
  AND RCRAPP1_PIDM = :PIDM
Another possible need is to find the "best fit" single SORLCUR record from which the level etc. can be used to look up other information like cumulative stats.  Different institutions may have different preferences.  Here are two possibilities and others exist.

--Active eligible Learner records

Term     Program  Priority  Seqno 

200650  English     1               13          <--- picked

200710  History     2              21             

-- Of the active eligible SORLCUR records (delivered function and checking for 'ACTIVE' determines which are eligible)

-- will take the record with lowest priority (priority most important), highest term, highest seqno

     (SELECT MAX(S.SORLCUR_SEQNO) KEEP

        (DENSE_RANK FIRST ORDER BY 

         S.SORLCUR_PRIORITY_NO ASC,

         S.SORLCUR_TERM_CODE DESC, 

         S.SORLCUR_SEQNO DESC) 

      FROM SORLCUR S

      WHERE S.SORLCUR_LMOD_CODE = 'LEARNER'

        AND S.SORLCUR_CACT_CODE = 'ACTIVE'

        AND S.SORLCUR_PIDM = :PIDM

        AND SB_CURRICULUM.F_FIND_CURRENT_ALL_IND(

            S.SORLCUR_PIDM,

            S.SORLCUR_LMOD_CODE,

            S.SORLCUR_TERM_CODE,

            S.SORLCUR_KEY_SEQNO,

            S.SORLCUR_PRIORITY_NO,

            S.SORLCUR_SEQNO,

            :TERM) = 'Y') 

--This one may be more desirable depending on client needs

--Active eligible Learner records

Term     Program  Priority  Seqno 

200710  History     2              21             <---- picked

200650  English     1               13

-- Of the active eligible sorlcur records (delivered function and checking for 'ACTIVE' determines which are eligible)

-- will take the record with highest term (term most important), lowest priority, highest seqno

     (SELECT MAX(S.SORLCUR_SEQNO) KEEP

        (DENSE_RANK FIRST ORDER BY 

         S.SORLCUR_TERM_CODE DESC, 

         S.SORLCUR_PRIORITY_NO ASC,

         S.SORLCUR_SEQNO DESC) 

      FROM SORLCUR S

      WHERE S.SORLCUR_LMOD_CODE = 'LEARNER'

        AND S.SORLCUR_CACT_CODE = 'ACTIVE'

        AND S.SORLCUR_PIDM = :PIDM

        AND SB_CURRICULUM.F_FIND_CURRENT_ALL_IND(

            S.SORLCUR_PIDM,

            S.SORLCUR_LMOD_CODE,

            S.SORLCUR_TERM_CODE,

            S.SORLCUR_KEY_SEQNO,

            S.SORLCUR_PRIORITY_NO,

            S.SORLCUR_SEQNO,

            :TERM) = 'Y') 

--Above snippet used in a sample GOOD SAP rule

--Need SORLCUR record for levl to get cum strips

SELECT DISTINCT A.SORLCUR_PIDM

FROM SORLCUR A

LEFT JOIN SHRLGPA O

   ON O.SHRLGPA_PIDM = A.SORLCUR_PIDM

  AND O.SHRLGPA_LEVL_CODE = A.SORLCUR_LEVL_CODE

  AND O.SHRLGPA_GPA_TYPE_IND = 'O'

LEFT JOIN SHRTGPA 

   ON SHRTGPA_PIDM = A.SORLCUR_PIDM

  AND SHRTGPA_TERM_CODE = :TERM

  AND SHRTGPA_LEVL_CODE = A.SORLCUR_LEVL_CODE

  AND SHRTGPA_GPA_TYPE_IND = 'I'

WHERE A.SORLCUR_SEQNO = 

     (SELECT MAX(S.SORLCUR_SEQNO) KEEP

        (DENSE_RANK FIRST ORDER BY 

         S.SORLCUR_TERM_CODE DESC, 

         S.SORLCUR_PRIORITY_NO ASC,

         S.SORLCUR_SEQNO DESC) 

      FROM SORLCUR S

      WHERE S.SORLCUR_LMOD_CODE = 'LEARNER'

        AND S.SORLCUR_CACT_CODE = 'ACTIVE'

        AND S.SORLCUR_PIDM = A.SORLCUR_PIDM

        AND SB_CURRICULUM.F_FIND_CURRENT_ALL_IND(

            S.SORLCUR_PIDM,

            S.SORLCUR_LMOD_CODE,

            S.SORLCUR_TERM_CODE,

            S.SORLCUR_KEY_SEQNO,

            S.SORLCUR_PRIORITY_NO,

            S.SORLCUR_SEQNO,

            :TERM) = 'Y') 

  AND (A.SORLCUR_LEVL_CODE = '01' AND O.SHRLGPA_HOURS_ATTEMPTED <= 186

    OR A.SORLCUR_LEVL_CODE = '02' AND O.SHRLGPA_HOURS_ATTEMPTED <= 48)

  AND (A.SORLCUR_LEVL_CODE = '01' AND O.SHRLGPA_HOURS_ATTEMPTED <= 59

       AND NVL(O.SHRLGPA_HOURS_EARNED - (O.SHRLGPA_HOURS_ATTEMPTED*0.50),1) >= 0

    OR A.SORLCUR_LEVL_CODE = '01' AND O.SHRLGPA_HOURS_ATTEMPTED <= 74

       AND NVL(O.SHRLGPA_HOURS_EARNED - (O.SHRLGPA_HOURS_ATTEMPTED*0.55),1) >= 0

    OR A.SORLCUR_LEVL_CODE = '01' AND O.SHRLGPA_HOURS_ATTEMPTED <= 89

       AND NVL(O.SHRLGPA_HOURS_EARNED - (O.SHRLGPA_HOURS_ATTEMPTED*0.60),1) >= 0

    OR A.SORLCUR_LEVL_CODE = '01' AND O.SHRLGPA_HOURS_ATTEMPTED >  89

       AND NVL(O.SHRLGPA_HOURS_EARNED - (O.SHRLGPA_HOURS_ATTEMPTED*0.67),1) >= 0

    OR A.SORLCUR_LEVL_CODE = '02'

       AND NVL(O.SHRLGPA_HOURS_EARNED - (O.SHRLGPA_HOURS_ATTEMPTED*0.67),1) >= 0)

  AND (NVL(O.SHRLGPA_GPA,4.0) >= 2.00 OR NVL(SHRTGPA_GPA,4.0) >= 2.00)

  AND A.SORLCUR_PIDM = :PIDM

